
B

ALIGN THE LEGS WITH THE PREDRILLED HOLES 
ON THE UNDERSIDE OF THE DESK TOP INSERT
THE 10 x 40 WOODEN DOWELS INTO THE 
CORRESPONDING HOLES TO GUIDE AND 
REINFORCE THE JOINT, AS SHOWN. 
IN PICTURE B.

C

STEP 3: MECHANICAL FASTENING

A

B

WOOD DOWELS

C
FLAT WASHER 5/16"

LOCK WASHER 5/16"
ALLOY BUTTON SOCKET CAP SCREW 

5/16 x 1-1/2"

THE POWER STRIP CAN BE REMOVED

STEP 1: SURFACE PREPARATION
WITH ASSISTANCE, PLACE THE DESK TOP 
UPSIDE DOWN ON A CLEAN, FLAT, AND 
PROTECTED SURFACE TO PREVENT DAMAGE.

ONCE THE LEGS ARE IN PLACE, INSERT THE FOLLOWING HARDWARE 
AT EACH ATTACHMENT POINT:

5/16" × 1-1/2" ALLOY BUTTON SOCKET CAP SCREW•
5/16" FLAT WASHER•
5/16" LOCK WASHER•

TIGHTEN EACH SCREW USING THE 3/16" HEX KEY, ENSURING A 
SECURE CONNECTION AS SHOWN IN PICTURE C.

CAREFULLY TURN THE DESK OVER TO ITS 
UPRIGHT POSITION. MOVE IT TO YOUR DESIRED 
LOCATION.

STEP 2: LEG INSTALLATION

STEP 4: FINAL POSITIONING

DESCRIPTION #
ALLOY BUTTON SOCKET CAP SCREW 5/16 

X-1/2" 4
LOCK WASHER 5/16" 4
FLAT WASHER 5/16" 4

WOOD DOWELS 10 X 40 6
HEX KEY 3/16" 1

I-DSK-E019

ASSEMBLY INSTRUCTIONS


	Hoja3
	Vista de dibujo3
	Vista de dibujo6
	Vista de dibujo8
	Vista de detalle A (1 : 6)
	Vista de detalle B (1 : 10)
	Vista de detalle C (1 : 9)


